© 00 N O O B W N =

N N N N — e e e e el e e o
W N = O ©W 00 ~N o o b W N = O

AL M F

Y ERREER NERG No. 502
T = &Z(FE)NIFHGERBHELS
T = B B mAH KRFABFAZ)I A
T i ZtoA mnis FR2543A25H FT

MIER L=310m #FEERIIESE W=6. 5m
$ET A=1970m
I ¥ #% =
A L B H|TH25E1A25B  FEi 9 B 20 %
2 KN F ¥ — e % & E$:3
T € Ml #& (Bl 1k) 9,194,000 | & & fil FR Al #& (Bl &) 7,630,000
% FL& 8 (Blik) 76300002 X & # 8,011,500
I THT 2 —
(2 F 4 A L & # i & A-JN

Al—CROSSHA=# 7,630,000
BZIXHREH 7,630,000( <LCIZ&kVUiRRE
FTALLEEBASH 7,630,000
FHET A= 7,630,000
KA E+EER 7,630,000
KX FEHER 7,630,000
M FEEE 7,630,000
ARS#HIRX- D4 —EXR 7,630,000
¥BRAEHaI—RARASH 7,630,000
ARSI O—F 7,630,000
EEmEEntisn 7,630,000
I TERA R 7,630,000
A= EARE 7,630,000
AmFARARS 7,630,000
PRI 7,630,000
faEEaEstist 7,630,000
AR EHEM 7,610,000( %&#L4t+ O
AR EHEE 7,630,000
KA EE 7,630,000
“BASHKFEHE 7,630,000
“BASHAOUVEIE 7,630,000
FRS=TX 7,630,000
X =t)a—r> 7,630,000

1/1




